MATH NOTES

The homework question is

1   1   1  (1  0  0

2 -1   1 ( 0  1  0

 1 2   3  ( 0  0  1

Ex1) one this is a 2 by 2
 3  2 (1 0

-1 1 ( 0 1

 Multiply the top row by1/3 to get.

  1   2/3 (1/3   0

-1     1   ( 0    1

Then I multiply the top row by 1and added it to the bottom to get.

1 2/3 (1/3 0

0 1/3 (1/5 1

Then I multiply the row bottom row by 3/5 to get.

1 2/3 ( 1/3 0 

0 1/3 (1/5 3/5

Then the teacher put this  

  2/2 *  1   2/3( 2/3     0

-2/3  *  0    1  ( 1/5   3/5

 He got this as his answer

[1 0(1/5   -2/5]

[0 1(1/5    3/5]

Ex 2 three by three

  2 3 1 (1 0 0

 3 4 -1(0 1 0

-2 4 5 (0 0 1

I multiplied the top row by half to get

1 3/5 1/2(1/2 0 0

3   4  -1  ( 0  1 0

-2 -4  5  (  0  0 1

Then I multiplied the top row by –3 and added it to the 2nd row to get

1     3/5  1/2  ( 1/2  0 0

0   -1/2   5/ 2 (-3/5 1 0
-2     4      5   (   1   0 1

Then I don’t know what he did to get this (As you know he goes fast) but he got 

 1    3/5   1/2(   1/2  0  0

-0  -1/2   5/2( -3/5   1   0

-2     4      5  (    0    0   1 

Then I multiplied the 2nd by –2 and added to the bottom

1    3/5  1/2 (1/2   0  0

0  -1/2  5/2 ( 3/2  1   0

0   -1     6   (  1    0   1

Then I multiplied by the 2nd   row -3/2 and add it to the bottom row to get

2   0   -7  (-4    3    0

0   1    5  (  3  -2   0

0   1    5  (  1    0   1

Then a multiplied by 1 and added it to the bottom row to get

1   0  -7 ( -4    3   0

0   1   5 ( 3  -2   0

0  -1  6  ( 4    0  -2

Then I multiplied the bottom row by 1/11to get

1   0   7  (-4   3   0

0   1   5  (3    0  -2

0  -1   6  (4   -2   1

Then I multiplied the bottom row by 7 to get the answer 

[1 0 0(16/11     19/11    7 /11] 

[0 1 0(13/11   -12/11   -5/11]

[0 0 1( 4/11    -12/11    1/11]

*We have to show all of are work and we may not use a calculator 

Thank you for taking the time to help me.

